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The supply function for a commodity T Coma
0
P=2+D?. Find the producer’s surplus & %ﬂi le:g;l
when price is Rs. 18. |
Apueenuneng | 4 | 12 6 6 24
2\la 2 2 &
19. (=) A=|2 10 2| erafld A aerp jenflullen B| 6 8 J 18
il e | @mnd Csemeuwnary A Qgmfpereouda 18
senadip ienfl Greims. g sad, B demfinsraauis 36 wysab o erer
: Ateri ! Qureg Qurgs 2-pusd sreamrs.
! ; L , In an economy of two industries A and B,
Find the inverse of A=|2 IQ il L | whose data is given below :
Sl Purchase by | Final | Total
demand | output
Oz P B | U 6 24
() Gemeumd CpiGam’ (& swerur@semer &ymof Sales by
el Hlenwil) LweTLRSE Sirds : B 6 3 9 18

Find the total output, if the demand changes

x+y-z=-2
x—-2y+2z=3 to 18 for A and 36 for B.
2x-y-3z=-1. _ ' Or
Solve the following Linear equations by (=) aueruLsfean e pelluj r Sise :
using Cramer’s rule : . e 2ot 4 300y
x+y-—z=-2 [
x-2y+2=38 A ienLw swerunBser : 5x + 2y < 180
2x-y-3z=-1. x+y<d45
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